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Complete this table.

Class | Numberin class | Football | Netball | Hockey
M 27 13
6P 33 9
6T 30
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m There are 90 children in Year 6 at Woodland Junior School.

==

They are splitinto three classes.

Class | Number in class

M 27
6P 33
6T 30

Each child chose football or netball or hockey.

In6M, 13 children chose hockey.
The rest of the class were spiit equally between football and netball.

In 6P, 9 children chose netball.
Twice as many children chose football as chose hockey.

In 6T, the ratio of children who chose
football to netball to hockey was 1:2:3
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n Two numbers are in the ratio 4:5
[Extral  One of the numbers is 60
‘There are two possible values for the other number

What are the two possible values?
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[Extra]

A dessert has both fruit and yoghurt insice.

Altogether, the mass of the fuit and yoghurt s 1754.
“The ratio of the mass of fruit to the mass of yoghurtis 2:5

What s the mass of the yoghurt?
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In a survey, the ratio of the number of people who
preferred milk chocolate to those who preferred
plain chocolate was 5 : 3

46 more people preferred milk chocolate, to plain chocolate.

How many people were in the survey?
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‘Susan mixes fed and blue paint to make purple paint.

2 parts of red paint with 3 parts of blue paint make
purple paint

Susan has 50 m of red and 100 m of biue.

‘What s the maximum amount of purple paint she can make?




